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1. Introduction

The purpose of this subsystem is to recommend the user about the agricultural operations
for the Melon crop. The system gives the next agricultural operation according to the
farm current status. This document consists of 3 parts, domain knowledge, inference
knowledge, and task knowledge. CommonKADS methodology [Wielinga, 1994] is used
to represent these knowledge. Sections 2, 3, and 4 present domain, inference, and task
knowledge respectively. Section 5 presents the user interface, and section 6 presents the

test cases.
2. Domain Knowledge

2.1Domain Ontology
The domain ontology defines the terms that can be used in the domain (domain terms),
and the knowledge types that these terms have (domain typology, e.g., concept, attribute,

value, relation).

concept plant;
properties:

age: numeric
source of value: derived;
cardinality: single;
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Chemical spray:{yes, no}
source of value: user;
cardinality: single;

last chemical spray date: numeric
source of value: user;
cardinality: single;

concept plantation;
properties:
date: university ;
source of value: data base;
cardinality: single;

appearance: {ide cliliasms ¢ anhl
source of value: user;
cardinality: single;

month number
source of value: data base;
cardinality: single;

directorate: universal
source of value: data base;
cardinality: single;

concept last suggested operation;
properties:
value: universal
source of value: database;
cardinality: single;

concept operation;
properties:
status: {suggested, not suggested, cancelled};
source of value: drived;
cardinality: single;

occurrence: {L@L’d‘ PARES [PAPYS Al ej lelac P

source of value: database, user;

2 TR/CLAES/240/2002.4



cardinality: single;

default value: 22 Lelae oy ol

importance: {2 W) iy jba) 3,
source of value: derived;
cardinality: single;

application date: universal;
source of value: user;
cardinality: single;

method: universal;
source of value: drived;
cardinality: single;

tool: universal;
source of value: drived;
cardinality: single;

material : universal;
source of value: drived;
cardinality: single;

quantity: universal;
source of value: drived;
cardinality: single;

period : universal;
source of value: drived;
cardinality: single;

importance: {4 sl ¢ 4}
source of value: drived;
cardinality: single;

day time: universal;
source of value: drived;
cardinality: single;

suggested date: universal;
source of value: derived;
cardinality: single;

done date: universal,
source of value: user;
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cardinality: single;

concept climate;
properties:
temprature:
type: number
source of value: database;
cardinality: single;

concept event;
properties:

last occurrence date: date
source of value: database;
cardinality: single;

expected: {yes, no}
source of value: database;
cardinality: single;

occurred: {yes, no}
source of value: database;
cardinality: single;

concept rain;
sub-type-of: event

concept wind;
sub-type-of: event

concept insect;
sub-type-of: event

concept neighbor Fungal infection;
sub-type-of: event

concept ) sl
sub-type-of: operation;
importance: 43 )b

concept ¥ <Al
sub-type-of: operation;
importance: 4_)La);
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concept ) aal A am s (Sl (8 Galia T (= Y1 Jasdads

sub-type-of: operation;
importance: 4 )b

concept Blany) f\ahal’
sub-type-of: operation;
importance: 4_)Lsa);

concept (LAl Adast 5 lliadll A4l
sub-type-of: operation;
importance: 4 )b

concept caldalanl) JL;E';\ 9 Lg)l\ ?5“13\); J)é;
sub-type-of: operation;
importance: 5\-1)-}.:!;

concept (ile lindlll & il mlass Adais;
sub-type-of: operation;
importance: 4_)La);

concept LSl g3l 4l (5 yhad de Jlaa 350l ady;
sub-type-of: operation;
importance: 5\-1)-}.:!;

concept Ll del));
sub-type-of: operation;
importance: 4_)La);

concept (i) Ak
sub-type-of: operation;
importance: 4 )b

concept &8 yill;
sub-type-of: operation;
importance: 4 )b

concept _aill);
sub-type-of: operation;
importance: 4_)La);
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relation: SUGGEST;
argument-1: plantation, event, operation, plant
argument-role: environment;
argument-2: operation;
argument-role: status of next operation;

relation: ASSIGN;
argument-1: plantation, operation
argument-role: observations;
argument-2: operation;
argument-role: operation method;

relation: SUGGEST DATE;
argument-1: last operation.done date;
argument-role: : status of last operation;
argument-2: operation.sugessted date;
argument-role: operation method;

relation Generate expected events;
argument-1: plant age, event last occurrence date
argument-role: : status of thee plant and environment
argument-2: event expected
argument-role: expected event

2.2 Domain Model

domain-model: suggestion model;
parts: tuple(suggest);

axioms:

plantation date > session date
plantation date — session_date >=21
Y& jall occurance = 2 Ledae A ol
suggest

Y& sl status = suggested.

plantation date > session date
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plantation_date — session_date >=21
Y&yl occurance = lelee &

Y& all occurance = 2 Llae Al ol
suggest

Y& all status = suggested.

rain.occurrence = no
wind. occurrence = no

Y& all occurance = lekee o

M ahal A gy 8Ll b 3ol Y1 laads, occurance = lelee o ol

suggest

) aibal 3 s 8L B salia T . )Y Laudads status = suggested.

G aabal A w5 8Ll 8 alia N (Y1 et occurance = Leles o

rain.occurrence = no

wind. occurrence = no

iy sl 3200 AL, occurance = 2 Lelae o ol
suggest

4 sumall 20y 48l status = suggested.

4 sl 30auY) A8l occurance = Lelae o
rain.occurrence = no

Gaal) kst 5 alaliadll 4dldl, occurance = 2 Lelas ol ol
suggest

Gl haas 5 Claladl) 46 status = suggested.

Galial) Al §f abliad)l 468l occurance = lee o

i@l il 5 sl abl 3 358 occurance = 2 ledae s ol
suggest

il sl 5 ool ahal A 2 8 status = suggested.

i) jlasl 5 s akl 2 5 8 0ccurance = lee &
Oile LSl 4 i) mhas d3las, occuTance = 2 Lelae o3y ol
suggest
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Cile Aaudll 4, 1 =lass Akai status = suggested.

Jile eliindUll 4y 51l <lan 4dass occurance = Lles o

S sl 4l (g ki ae Jlaa 2 sl a5, occurance = 2 elae o ol

suggest

LB sl 4l (5 kb e Jslae 3501 a8 status = suggested.

S sl 4l (5 ki ane Jslaa A sl el occurance = leles o

Jsadldel 5, occurance = 2 Llae o ol
suggest
osallde) ). status = suggested.

osMlas) ), occurance = Lelee o3

Al Llis, occurance = = lelas o3y ol
Plantation. month = November OR January
Plantation.directorate = yxall

wind. Occurrence = no

climate. Temprature<37

suggest
G ks status = suggested.

osMlae) 5, occurance = lelae o

Al L, occurance = 2 elas o ol
Plantation. month = September OR October
Plantation.directorate = w<all

wind. Occurrence = no

suggest

Ayl las status = suggested.

osMlae) 5, occurance = lelae o

Al Lhas, occurance = = Lelae o3 ol
Plantation. month = December OR January
Plantation.directorate = »as Jlad

climate. Temprature<37
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wind. Occurrence = no
suggest
Y ks status = suggested.

3wyl ddass, occurance = lelae o
&85l occurance = 2 Lelae o3y ol
plantation.appearance = 4ile GULS 3 ga
plant.age =10

suggest

&8 status = suggested.

&89, occurance = lelee o
il occurance = 2 Llee Al ol
rain.occurence = no

wind occurence = no

insects. Occurence = no

suggest

il status = suggested.

&5, occurance = lelee o
il occurance = x lelae o3 ol
Plant. Chemical spray = yes
plant.last chemical spray date >=3

suggest
sl status = suggested.
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domain-model: assignment model;
parts: tuple(assign);

axioms:

Y& all status = suggested.

Weeds exist = yes

Assign

Y& Al period = 5-7 feddan /day

Y& all tool = “Lloa e Jsanae 3oy da ) &l jae”
V& jall day time = el oL

Y& jall method = Ofialatia (8 je & jall &4

V& sl importance = 4k

Y& all status = suggested.

Weeds exist = no

Assign

Y& sl period = 5-7 feddan /day

Y& jall tool = “ o o Jsean dday Ja ) jlia & jae”
Y& all day time = _ledll oL

)& all method = Gislatie (5 e Call

V& all importance = 4L

Y& sl status = suggested.

Weeds exist = yes

Assign

Y& sl period = 5-7 feddan /day

YAl tool = “la e Jsane dday da )y &l jae?
Y& sl day time = ledll oL

Y& allmethod = ofialaia (48 e & sl o3y

Y& allimportance = 4 )b

Y& all status = suggested.

Weeds exist =no

Assign

Y& all, period = 5-7 feddan /day

YAl tool = “la e Jsane dday daylia &l jae”

10
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Y& all day time = L) L)
Y& allmethod = oalatia (4 pe & pall S
Y& all importance = 4k

ol bl j3 s Sl G Gala T (Y1 aphas status = suggested.

Assign

N mabl A a8l 3aia N Y lakaas day time = Jledl) £ L)

OV bl A gy (Sl (8 336s T a1 lidass, period = 0.5 — % hour Ifeddan

G aabal A a5 Sl 8 Galia M a1 Jandads, t00] = Ll e Jsana zlad”

OV ahl A amy 8Ll b galia I = Y i method = Jead s (e zlad (S 5
ERIEES

Gl bl 3 a5 8Ll (& 3alia M oY1 ladads importance = 4!

32 dilal status = suggested.
Assign
B! léhai,day time = ) L)
32wl 4zl period = 3 labour/4 hour /feddan
sl ddlal, too] = “AS pb + alalaal)”
330yl dilal method = ALl ae Jadd aasall SYarall e J8 5l 4 35 Al 3aeud) ddlial &4
e U e Y alaliall Zdand g 3aUAY JAly slendl g 56 5 (5 prandl dlandl 3a0akl) 4
S EVWOR g 2N PV B R D B X B S PR P S VESVA VW (P P AN TS
4kl [l a2
s2auY) ALl importance = 4 )b
32auY) 4Ll Material =dlaie (5 saac dlaw + Gal 50 Nas

=0 Cu S+ ol ldlat o ganll gy ildli 4+ gl dlew Sl 8y gus +
32au¥) ddlal gty = Gladll Yo £42Y 0 4 YooY

O"‘é‘:("-&S\.._’_(’%SO.—F?;S\.._i_(’-&SV..

@l dars 5 Clhladll 446 status = suggested.

Assign

Galall kst 5 bliad) 44 day time = Jledl) oLl

@Al Zuhasi y hliadll 24U, period = 2 labour/2 hour /feddan

Caalaal) lgu 5 hblad 4@, tool = “J\ﬁ L.Ar‘ :\J}AM :\_'11:\,1”

Caalaal) 3.;\.1::&3 5 hladll i3 method= d,qs: &= B! ‘_AL 2\_1\3.\!\ :\L.m\).i ﬁ.ﬁ)ﬂ\ eﬁg
s Yo Y 4 gl Claliadl

Galiall Aglaxs 5 abliadll 41 T importance = 4 ks

allalall sl 5 sl mhl A 28 status = suggested.
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Assign

clllal ) 5 sl adal ja 38 importance = 4 ks

el sl 5 ol bl A 358 day time = 3_sedall Ci g cvind 5 clud) o Fluall

bl sl 5 gl abal A 34, period = 2 labour/2 hour /feddan

Ll il 5 sl aibl a8 100l = Hsige s o Al Joha A Y 220 a0 YTkl A
3aand) Wy 5 calladall 5 Jloll jaad 5D 5 elal feual

AL 8 5 sl a3 3 method = 5 clelii ) s Y Cuas lun cabbadl g e 3

038 a8 )3l b M ashA Juas o 4 mall Baan) e aadl s il &5 llad) mdas e cllaliss
OS5 A G IS8 e el dludie aladtly 408 ay o sk A Al Gl 5 Adaadl Cuaiie 35 5l
)50 e ) kel jall 50 ) gl 3Ll Jaras

Oa U 5 51 4S5 8 obaall i 2 5a g pde s N ASE B a5l s () sa g pae By 5 e aadl
sl Al Jals (aeall adyy ol Al agal Al Al 8 cldaliil) el glam gl akal A Clles B
Jpanall 5013 yid J) ola 3 paiise alaall sdd 5, 33 saual) Cillalaill e Janaslly

ol eliudUlL 4, 5l =l kil status = suggested.

Assign )

Oile iUl 4l mlas duasi day time = sluall ) ~luall &

Oile il 4 ) mhas Lhsimethod =) Y+ Gaje 5 0508 VoY aSau) clindll o 4
S S 5 A A g2 CapaY) 5 il sl (e 45 5 alliadll (358 (e V£

Gldalail) vie dulall & Jafidie and pa g o 0 Hlaly

Cile SliuUll 4, il s Audais, t00] = “an © Lo jlad Ao + il 52 Al Jleal) 5 Calad laudl

Ol elindUlL 4, il o daas, Qty = 80-120 kg

Oile @linBUlL & il mhan dudasi importance = 4k

Cile Aaudll 4, i =lass Adai status = suggested.
Plantation. month \== 7;8;9

Weed exist = yes
Assign
ke LDl 4 il o 4laxs, material = 2 sl il

Cile iUl 4 i =lass 4ka5 status = suggested.
Plantation. month \== 7;8;9

Weed exist = no
Assign
Jile Sl 4y 51 ~lan 4dass, material = “calad Sl

Oile i3Sl 4 5l e 4daas status = suggested.
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Plantation. month = 7;8;9

Weed exist = yes

Assign

Oile LBl 3 1 mhaw dykaxs, material = €8 4x 5 93 Sl

Cile iUl 4 i =laws 4kaa5 status = suggested.

Current month = 7;8;9

Weed exist =no

Assign

Cile iDL 4 il mhass dudass, material = “ a8 gl d gl A g 99 el

LD sadl gl (5 kb e Jslae B 501 a8 status = suggested.
Assign

S sl 4l (g ki dne Jslaa & sl a5, Period = 2 hours

G shall 4l (g 5k aue Jslae 3 sl adi Material = Opas 53

G sl 4l (5 ld e Jslaa 8 sl ali gty = ela jil / aa )

LB ) 4l (5 yhad e Jslae 8 50 4l Method = 4 sle Ll (8 (s kil anall (e ol 4403
ele I 13 sl Ly ) (LA (e Al Akl piag o le g b (5 kil elaally 3,00 Aldas aae Alla

Ol i Jiad) (2l 3 il S el 3 Jddelu VY 52l

S sa) 4l (g ki aae Jlaa 2 sl aSitool = Al Y-) dawsle s

S sl 4wl (g ki ae Jlaa 25l a5 importance = 4 ks

sl del ) ) status = suggested.

Assign

UsMlAe) 5 importance = 4 s

sl del )5 Period = 2 labour/6 hours/feddan

sl de) 5 Material = seeds

Jslldel ) Qty = 150-200 g /feddan

JJ.J..\M :\.C-\‘)_)day time = Jela ji IAL\.AA

sl el )5 Tool = labours

osddel ) Method = s ¥ aa o (i) dadd Canatie G Baal 53 )0 el ) dada ) 4 53 B e ) oy
-) Gae e Nl aa g g Jalds IS e Bas) 58 )0 Jaar ) GOAY) 530 e 00 Al e Lalail) g
ny ol ke aia gy Akl A JE 3350 5 jlis dgm g Alla 8 5 ol gadll il 5 58l (5l 3 Agkasil) g au Y
alee (8 Lgalaain @y el )3l agr (ol (8 o gl) (S gaa B s el ) e WY 48l sl 3 p8la de )
A Al g Ae 5 el Hsal (g gadll (B gl cllia 0 Y (s 2l il

Sl ks status = suggested.
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Plantation. month = September OR October
Plantation.directorate = d.all

Assign

3wy Luhas. Material = Jaa)

B dhaas Qty =a Y,Y =Y Gae 5 Jsh e YA

&Y 4has, Importance = 4 ks

L'é\é&}’\ duhas, Period = 4 hours/feddan

AWy Auhai |, Method = il sall 5 <ol phY) e sl oo 5l xa 553
Sl bl Tool = Lesidll 5 Jlenl)

G ddaas status = suggested.

Plantation. month = November OR January
Plantation.directorate = dzall

Assign

ALY b, Material = (S -1-0 clow L8000 (3las)
G dgdaas, Qty =0l / S YO

Gy duhaxi, Importance = 4ba)

Syl 4bis, Period = 4 hours/feddan

@Y dlass, Method =4 seill 48 550 Zgal) (s i) s il s (55
By dulazi, Tool = e sidll 5 Jland)

Y ks status = suggested.

Plantation.directorate = yae Jla

Assign

SWY) ddaxs, Material = 4SSl Gl

Ay Lhis, Qty =0l / aaS Yo

3 ks, Importance = 4l

3y 44das3, Period = 4 hours/feddan

ALY kst Method =4 seill 48 53 dgall (o Caudall an i) e 550
Gy dshaxi. Tool = s sl 5 Jland)

&8 status = suggested.

Assign

Bl Method = Ala (8 LSl 5 ) sall odgd llaliil] dlaaDle pe AL A0l ) sl (8 28 Al 23
Ll ga ) a0 1Ys (S5 38 G il LBl e Ley e saly ) Alla L3 W s gllaalans)

Ak ) A i) 585 ) 5 Aiia A8 )y 208 o A (g giaS ol Y

o (B ALl CanSa il 55 ) s asmAet )3l JB V) (8 (5 ki jedae Jsbaey Ll (55 5 o) Y
L s JalSy alidll ) 53 5 4 3 rlans (5 gina

&85 Tool = dle
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&84l Material = 4e) )3l o g ol (A de g ) e DAL
&8 53, Importance = 4 _jial

el status = suggested.
Assign

sl Tmportance = 4k
@3l Period = 1-2 hours/feddan
a3l Qty = 5-25 kgm/feddan
sl Day time = kel oL
uailll, Tool = 3 leal)

ol status = suggested.
Neighbor Fungal infection. occured == no
Assign

sl Material = (a8 Jism iy o210 Cu S
il status = suggested.

Neighbor Fungal infection. occured == yes
Assign

Jailll Material = V:) dowiy pelaill 55 (Sl 4 o)) 5wy
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domain-model: suggest date model;
parts: tuple(suggest date);

axioms:

Y& all status = suggested.
suggest date
Y& sl suggested date = plantation date - 15

Y& all status = suggested.
suggest date
Y& all, suggested date = plantation date - 7

N bl A a8l 3 alia M (= Y) Jaulads status = suggested.
suggest date
Mkl A g 8Ll b 3ol T (Y1 lakads suggested date =Y sl done date+1

4 small 320081 ddlal status = suggested.

suggest date

iy small 30anY) dilaal, suggested date = ol abl s aay (Sl @aia 1 a)Y) Lk
.done date +1

GaLal) dphai i (sl 446 status = suggested.

suggest date
LAY dudaas Ji AT PIALY suggested date = 4 szaall 3aauy) 4lsl done date +1

alaladl) Hlssl 5 ol adal A 24 status = suggested.
suggest date
@l a5 gl aal A 0 8 suggested date =@auall bt 5l Clliad) 24, done date +1

ol eliudll 4, il =l ki, status = suggested.

suggest date
oile iDL 4 il dass 4udass, Suggested date = <ilaladl) jlidl 5 s )l akal )3 553 Done date +1
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S sl 4l (g ki ane Jlae sl ol status = suggested.

suggest date

LB sl 4l (5 b ase Jslae 850l &85 Suggested date = Uile Sliudll & il phav dukaas,
Done date +1

osall de) ), status = suggested.

suggest date ;
sl del ), Suggested date = Lol sl 4l (5 yhd e Jolaa (B 50 &85 Done date +1

Sl Lbais status = suggested.

suggest date
AW Adaxs Suggested date = L4l de) ). Done date +1

&85 status = suggested.
suggest date ‘
&84l Suggested date = 3l43¥! 4bas Done date +10

ol status = suggested.
pesticide spray.occurred = no
suggest date
_udlll, Suggested date = &8 3. Done date +3

domain-model: generate events;
parts: tuple(generate events);

axioms:

current month = 12;1;2
Generate events
wind.expected = yes
rain.expected = yes
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3. Inference Knowledge
3.1 Inference Structure

Inference structure is shown in figure 1.

Environment

Event last occurrence date

Plantation date

Generate
axnected event

Expected events

Plant age

Generate List of
all operations

Refresh expected
events

Generate expected
operations

!

Expected events l List of all operations

operation

l

Specify
operations

Specify all
operation

Detailed operation

Fig. (1): inference structure
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3.2 Inference specification

inference: calculate
operation-type: calculate the plant age.
input-roles: plantation date.
output-roles: plant age.
static-roles: there is no static roles
spec: plant age is calculated in days by subtracting the plantation date from the
current date.

inference: generate expected events
operation-type: generate a list of expected events.
input-roles: event last occurrence date
output-roles: expected events
static-roles: generate expected events model.
spec: applying the generate expected events relation

inference: refresh expected events

operation-type: transfer task

input-roles: expected events

output-roles: expected events

static-roles: no static roles

spec: generate an updated list of expected events
if event.occurred = yes
then event.expected = no

inference: generate expected operations

operation-type: suggest the next agricultural operation.

input-roles: environment, plant age, event, accomplished operation,
plantation date.

output-roles: next operation.

static-roles: SUGGEST e suggestion—model.

spec: the next agricultural operation are to be suggested by applying

" SUGGEST " relation.

inference: specify operation
operation-type: assign parameters to the suggested operation.
input-roles: next operation.
output-roles: detailed operation.
static-roles: assignment—model, suggest date model
spec: assign the method to the suggested operation by applying
" ASSIGN " relation and “suggest date” relation.
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inference: generate list of all operations
operation-type: suggest a list of all agricultural operation.
input-roles: environment, plant age, event, accomplished operation,
plantation date.
output-roles: list of all operations
static-roles: no static role
spec: select all subs of operation concept and assign operation.status = suggested.

inference: specify all operation
operation-type: assign parameters to the suggested operation.
input-roles: .list of all operations
output-roles: : detailed operation.
static-roles: assign and assign _date model
spec: applying " assign " relation , and assign-date relation
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4. Task Knowledge

task: Artichoke plant care;
task-definition:
goal: suggest the next agricultural operation;
input: Environment: {soil: type, plant: status, plantation: type, plant density,
appearance, crop type};
plantation date: {plantation: date}
event last occurrence date  {event.last occurrence date}
output: detailed operation (operation . value, operation.method, operation.material,
operation.importance, operation.tool, operation.qty, operation. Day time,
operation.period}

task-body:
type: composite
subtasks: calculate, get previous date, assign date, obtain plant status, suggest,
assign
additional-roles:
operation { operation . value}
plant age: {plant: age}
expected events: {event.expected = yes}
control-structure:
OBTAIN (plantation: date) % from data base

If plantation date > current date then
calculate (PD: plantation-date————» PA: plant age),
end if

ask user (& _yial) L Alendl of LIS cillaadl Uy
obtain Answer
switch (Answer)

case L@JS LL\L.\M\

Generate list of all operations
Display screen of figure 3
Switch (user action)

Case (T 3>)
Exit screen figure 1

Case (dé.-‘éuj)

Generate specifyall operation
Display screen figure 4
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Case 4;):‘9‘!‘ 4.\]1_\1\ :\:‘h’d\
Begin

generate expected events
display expected events

OBTAIN (historical operations) % from database,
OBTAIN (historical events) % from database,
Generate expected operations

Display screen figure 1

Switch (user action)
/* begin case figure 1%/

Case (T 3>)
Exit screen figure 1

Case (add event button):
OBTAIN current date
Add historical event and event date in DB
Refresh expected events
Generate expected operations

Case(detailed operation)
Generate specify operation
Display screen figure 2
Switch(user action)
/*begin case figure 2 */
Case (delete)

If operation.importance = “-J)L‘é\
Error message(d_ba) LY Auleall aladl e 1Y)

Else

Add in historical DB (deleted operation)

Case (<ad)
If operation.done date = null

Error message(dalazl) aladl g )l Janl)

Else

Add in historical DB (done operations)

Exit screen figure2

/*end case figure 2 */
/*end case figure 1 */

22
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load event. Lase occurrence.date from historical DB
generate expected events

end
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5. User Interface

G gaall 5 ) Balall s allall dad giall 3 jallal)
Ul
dalall Cillasl) saaiall Cillasl) Anlu) da yiaall dae ) 3 dleal)
[PAP Aleal) ad
RIMERT
L) 5
oA Jralds
Figure 1
Aleal) o
Aleal) 2l o il ey )
Gl
RN
salall

i)
M‘&\ﬁ\s)ﬁé
e}ﬂl\dﬁ\@.«d\ el al g

Aaleall 28t 20,18
Caal Lol ) g

Figure 2
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da i) cilileall

Sl

A

Figure 3

PRIV Aalaall o
Aalaad) Auavil CJSEAS\ @)t'd\

G bl

3laY)

salall

L)

Z\T}L.ai\ ¢l yal s i

(:}.J_j\ S dnlanll o) jal g
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5. Test Cases

Case 1:
Plantation date = 30/11/2002
Current date = 1/11/2002

Output
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Case2
Plantation date = 25/11/2002
Current date = 27/11/2002
plantation. Directorate = Ll
Wind occurrence = no
Climate temprature = 35

Output
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Case 3

Plantation date = 30/11/2002
&8 5. done date = 15/12/2002
rain. Occurrence = no

wind. Occurrence = no

insect. Occurrence = no

plant. chemical spray = no

Output

Case4

Plantation date = 30/7/2002
abl A 5 8 done date = 27/7/2002
Weed.occured = no

Output
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